
(a) lim
x→∞

arctan(7x) = π
2
, so lim

x→∞

earctan(7x) = eπ/2[≈ 4.81],so y = eπ/2 is a

HA. lim
x→−∞

earctan(7x) = e−π/2[≈ 0.21],so y = e−π/2 is a HA.

(b) f(x) = earctan(7x)
⇒ f ′(x) = earctan(7x)

·
7

1 + 49x2
> 0 for all x. Thus,

f is increasing on R.

(c) f ′′(x) = earctan(7x)

[

−686x

(1 + 49x2)2

]

+
7

1 + 49x2
· earctan(7x)

·
7

1 + 49x2

=
7earctan(7x)

(1 + 49x2)2
(−98x + 7)

f ′′(x) > 0 ⇔ −98x + 7 > 0 ⇔ x < 0.07 and f ′′(x) < 0 ⇔

x > 0.07, so f is CU on (−∞, 0.07) and f is CD on (0.07,∞). There
is an inflection point at (0.07, f(0.07)) = (0.07, earctan(0.49))
≈ (0.07, 1.58).
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